Hour: ALGEBRA 2 SEMESTER 1 FINAL REVIEW

— A

1) NC Draw a rough sketch of each of the parent functions

Unit 1: Function Family

a)élméar ; b) Absolute Value c) Quadratic d) Square Root j

Equation: | Equation: Equation: Equation: '

‘ , |
i |
i !

' e) Cubic f) Cube Root g) Exponential Growth h) Logarithmic

' Equation: | Equation: Equation: Equation: ;

f} .......... o £/‘>

2) NC g(x)=b(x-m)2+r What happens to the function when....

E—b]>1 Vertical S'.{'I’C‘I'C,[’) m>0 Mbves V‘l\ﬂht r>0 . ;
| " skinnier” o

0<b<1 vertical compression m<0 - r<0 =
it Ht:ﬁ‘e, . moves lef+ moves down
<0 Reflection “flip”

3) NC Find the requested information for the graph below. Make sure you use the correct parentheses

and/or brackets.

Increasing:

1,10

(5, oo)

Domain:

[-3, =)

Range:

Decreasing:

("3)"13
i =)

[-4, =)




4) NC For each graph below, list the transformations. Then, write the equation of the graph.

ia)':i‘i:a;nsforrrr.lations: b .
- leftz
T up 5
' New Equation:

o= Vx+z +3

E_b) Transformations:

New
o

e |
f(x)= —2|x-4] +

l / 19 4
wp | RN
Hight 4

5) Find the domain & range for the following 2 functions: (Hint: It might help to draw a rough sketch!)

a) f(x) =3(x—2)*~5
) ==
e ["5) ¢>o>

(2,-5)

b) g(x) = Vx—5+2
b: =, °°>
Ri [2,==)

(5,2)

Unit 2: Systems

1) NC Solve the system by graphing.

L cE e +
5x+ 3y=9 \‘j=%x+;

2) NC Solve the system using any method.
5x+y=9 ﬂ‘: =5 'f'(?

10x+ 2y= 20 2_51: ~lbX +20

Lo I 2

3 = —6x +10
Same Slopc
Different \Lj—a‘m—f_rc(pf's

The lines are Pcura[lcl.

N, inkersechon.

4) Are the points below a solution to
5x +3y =97

42, 10) b2 3] e @3) d(11)

a. 5l2)+3@(p) 29 C. 5(4)+3(3)29
~jo +30 > 204929

=
2029 2929

b. 5(2)+3(-3)2 9
1o+ (-19) 2.9 d. 5(D+3()3 4

6+ 3239

§2.9



5) Maria is hosting a party. She places an order at Pizza Hut for 5 pizzas and 4 breadsticks for a total of
$51. Halfway through the party, she realizes that she will need one more pizza and 2 more order of
breadsticks. This time she was given a total of $15. How much does a pizza cost? How much does a

breadstick cost?
5P +4b = 5I

P= praa, ="30
. e w5, =l6)kez) Zp AL =
bbread (! 2 5 = 2l *Sustifue back

. -
Pizzo. is #7, and p=F TR

+o find b.
bread is #4 e e

Zﬁi%
6) NC Janelle is selling cookies (x) and brownies (y) at a bake sale. A cookie costs $1.50 and a brownie

costs $2.00. She needs to make at least $50 to make a profit but she only has 20 cookies to sell. Write a
system of linear inequalities to model this problem. (You don’t have to solve)

[Sox 4+ 2.00y > 50
X £ 20

7) The graphs of y = f(x) andy = g(x) are shown. A.RELD.11

£69)

|

Solutions for... fefal o pomtsrr(_z pis
o each) ”
o Ao
y = 8(x) H] B Fi(Br &
I v
60 = g0 B D
= )

8) Find where the system intersects: f(x) = X2+ 5x- 10;g(x) = x+ 2

P

5: X +2
Substihue. -
wZ+5x-10 = X+ 2
—)( —"')(

Z = :2_’
X +LIX__£€_ S
X%+ 4Hx -2 0O

'pachsr'

X244y 12 =0

- — =0
(Xﬁ(x J&)

Nuadratie.

Frvuda
4 X -4 0)ET)
S5
-4y
s
-4 3 ‘



1
1) NC Simplify: 362 = V36

£

3) NC Convert to radical form: Xt

(SR

5) NC Simplify:
7
=) O
= 3-2.-{2-—. @ ‘_}
b) V200 é‘ﬁ?oo@/@
=2 el 5 @é‘gﬂo
- S
T Wiy Ry
7) NC Simplify: mj;
s s e
X Z

=3

X+8

4
9) NC Solve: -
CmSS m,uH—;P ly :

=
~3x = 4{ %+8) Dishibute.
—~3x= 4x+ 32~

-
—

A

Unit 3: Rational /Radical

l_l

3

4) NC Convert to exponential form: (4\/;)
2
X !

2) NC Simplify: 8>

=
6) Simplify: X3 * X4
L At 3/
Al e o
— -‘_ D sl
12, 12
X

1+
[\

—3y2.

V7

-—
-

—
-

NC Simplify:
8) NC Simplify X2y

G2 gy

v

_-5 ? o)
=X Z
10) Solve ——"::31:_'*‘1380 Simpls Factor
Hie numerador
and denominatoy:

x+5YXA+E)
GAEE-3) T

e =i , r
s e .
. 7 2 = 25 e
11)@3x —){7) 126/90—}6) 13)6/)(}: @0— 2x>
- 4 5
3x-5 =49 0K =x",, X-5= 102
+5 $6 T 2 SR
3)(:_ 5‘-! 77/0 —-?‘D,D 3)(/{55‘_;_]_/9—
S 2 = =g 10 A =5

O _=(x +to )(x =9

-




Unit 4: Quadratics

1) Which of the following equations shows the minimum or maximum of h(x)? Is it a max or min?

h(x)=2(x+ 3)(x+ 1) h(x)= 2(x+ 2)2-2 h(x)= 2x2+ 8x+ 6

\/cr+€x ‘T'BY‘W\_/

. ~5+9 _
2) Factor to find the x-intercepts 13 L7 :@ —2—_. .@
a)x% - 13x + 30=0 = b)x*+ 5x- 14 =0
s ot ey
205 > 0 - w219

3) NC The graph below can be repr csented by which of the following equations:

| =N

y= (x=2)(x+ 1)
b)y= (x- 1)(x+ 2)

9 y= (x+ Dix+2)

Q) dy= (x-1)(x-2)

y= Cx-1)(ci2)

ety =0 o find Fhe
x—in‘l'er(itfs?"s.

= (x-1)(x +2)
x\l/:) Z

X-| =0 X + 2 =0
, o . +1 +! sty i
4) NC Select all of the functions that can represent the following graph: —-————l——' 2.
v 06— S
2%x%+ 4x + 3 f
2(x+ 3)(x+ 1) CorrC&x—"{nere_P'l’S /f
2(x+ 2)2-2Corvect \/CPK—CK il
2= 3)x-1) e
D810 Correct x—nm('c\-cep{-s e
Rl R
5) NC Solve the following equations using any method.
7/5/ This
ap-6=9 b)x? - 11x+ 19 = )x?+ 4x+ 6=0 hot v
Sclwc root both sides: =5 */5/ Use +he { e
P(p—-3 or p- L==3 )(L"Hx-l-;u-} =D -Por‘ (37
16l +L. +4 (X 9)0(,3):0 ;
R=T> TG=2o A
-or— —
Foil and use the uﬁog @) N
2. — > -
- 12p +3(”ﬁ/' -~ %Or use The quadrahic formula, =-4EfV-8F% Siliifins
Wb“ =12 % izl -4 (1) ¢24) SN )
O ¢c=21% EE :5 mplex nmbers:
6) How many times does each of the following functions intersect the x-axis? —¢ # _z {' -2+ V2.

1

a)y=3x2+§x~: b)f(x):%x2—4x+3 c)f(x)—ZX“—Ex

9

N w




